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Question Booklet No.

Question Booklet Code SLRC_ 2 02 2

C Paper : III

Roll No.

Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Maximum Marks : 150

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-64 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 09:55 a.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 100 questions of 1.50 mark against
each question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘C’, then he/she should fill up ‘C’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘C’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.

SLRC-2022/P-I1I/C 1

Page 1 of 64



Al | JobAssam conr

foriaet

71 09:55 JHIT HITS LHPITOI e |

OMR €3 “1q9 IYR JBWH® Wa Te05! e 917 S9ITS &miht ARG A 76T |

o S5 BfeT 4| TS (@I AT 29 T fToqo 2@ T{! /] T @Y IR
oS i 7R |

o It T SRR SPIR SoR ST I @#1TS Ty T4 A9 fREpTR Teewt 707,
(S8 (SEF TS Jfol [REI0A1 F1 27 |

® Non-Standard OMR I@T® 2(F “_FFIAE Fo@ @ 791 euFiFed Mg sz =B
Tt =far |

o SrHIEPTRCE WA Ml SHFES /(@ET *ae YAR FHa PR A0, 2I=E_IT (SSTECS 210w
FHS P A2 FAIF TS IF TSI OMR TG IF eEFIFOUC] a5 ol
R TS | RICT 2[RI oS /e “Iqe sl 3 Je 1903, (S02 & (SSTEF
s 31 4f9 @RI Ea |

o R FHNT AN (9 LAWEAT B4l (rough) FW eEFIFos il HizeE F @ |
AN 461 (rough) FI TG A1 Al B (FICT 476 FlaTers I G | Teq 7[aqo I
@2 Y541 (rough) PN *HIFE T, (SRS T (ST T&T #[@q Jeie 341 7927 |

o S 2T AT AHIF €= NG OMR T&T “[@rz 7l 27 | G 2 I Wam IRIA
SReRE @I $eq oiq il 72’7 |

® ENIFOT TS ¥ OMR Teq ~Ig il 27 | *[=If@ ¢z g OMR Ted “qe
ERJFOT T, LFTOT T, B AR @ ATl /F 2N -5 (I 7 Pl
R |

® ST Y 2 T HF eWFFoe 100 b & AR AT TS0 &R @ 1.50 THIP
2 |

o & TG AT (PITA! AN 729 T |

® SIF(AIRIR ©2 T[T @ AFINET OMR Te 2[qS &l /F 3l @1-936 (02 T2
A AN |

o “RrFIi (OSTEIRT R To M @ erTire erpHR RO 279, @ PN,
ST, 0T, o T BRAG! | @2 (S ARG A TRFIS @I 470 s 1z 3K
(oIS SRR 27 Te BRAMG TRFREDBIR2. 2T Wi e 9o A |

Important Instruction :

o T fafve 2l Ttw TTe eNFITE $'T TG OMR Tes g S 5i%® forat 27 |
TrRFeERC, 2RI &> T 2RFIFSI T “C’ 2WfHFE OMR T “iaq (e digs «c?
foria anfor =ie e 3@ «C 6t a1 37 7R | s feat feete et <[
TR TGP Sl IF QRHToL Feie A 37 |

o 2SI T GJil FIT WICS 2_HIANT HFT o© OMR TEGF [ TS LRFITOIE
ol v AR | SepRt sfwiEiem SpritEs 3 Rt 27 |
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et

I 09:55 BRI TS aB &= 1l |

OMR &3 “taq 3L Jebre W Terih e TR 7t erifh R #1to 7o |

o P HoTCe APl SR @I AT <A oA Food @ [l K T (=S ARE
ST SRS (TS =T A |

o i (FI I SPIR TAR SqETT I A TAE SEmd T AW FRPTR oo I,
@ I S0 A0 Ko 91 23 |

® T ST OMR @7 “[(ad &) IS e (@ w91 els#itad Wiie 2 =8 3
IERISESE

o FrHFiaE R e ToRERs /@I #Ita YA FHFA 0o 2, 2RI O 2100
FCF P 2429 FAF T R ORI OMR T@d2[@ @3k 2#afb s ol (redid
AR | (I AR ST /e #itq A TSR FE 1 T, SR Ot oIS 0
/e[y T 204 |

o ST T GHE ARG T (rough) TS 2PE#TE (S| BT FACS AR | 21 qri
2T (rough) IS TG 1 T (FIF LR FI9E FICS AR 1 | AW 27wt @3 27!
(rough) FT& TEIITq FCA, OCF G2 TELICGH TeNRE Pl 24 1 |

® 7F IR & ANFIANET ¢ g OMR Tea7@ (e @ | G T A Wa TR &
SR (e Teaig (e I A |

® 2R[(TF A €6 OMR Te°l@ (eq 2@ | Aa=FINcs (12 (8 OMR TeReiq emitas
T, ePEITR (T TSI AR WY 11 /FICE IT-A@S o =T 5] FH00 2 |

® <[SFPIF TR 2 I6! €I 2H#itg 100 b 2p A 3R TSP &TT &) 1.50 797 0T A
R |

® o TG T (I YOI FI AP |

® 5% O (FTF G “rHIE OMR TG0T 1161 /I I - @B (7] 2T FACS 2(A |

o IR ST R T ATS 2@ @ WA 2Bt IS 2@ | @ - SR,
AR, AT, TR @R TG | @3 CHG TGN ORI (I LR SERS T ([@I0
P BCE BRG] HANDE LIPS W 03 91T FHCH |

Important Instruction :

o *JArwTy iRee 267 BT ATS eRotEd (I THAG OMR Ted7itad e B @t = |
Tz, AT AN PTER (@IS “C? 2liFE OMR $e3oite (e =i < vt =@
GR TR 38 ‘¢’ b FIET TS =@ | eGSR (e ARrwIS eewel. [t
TR0 R GR =D I FACS T |

o ! T Is TR e A (NAFCPI ACS OMR T@geitas Aozt @rieiaiG e fires
2 | & 1 e SR S I Rt 2@ |
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%1 09:55 famfx Rt sresef Wi frersEt s@aTe |

T ANTYHATE TS Tt gt T Trete St @ EE A |

® 3IFITE T UHR U Taal [SHRERE 3G ST G T TET SIS @ TR
BT ST ST |

o Ife Aian fommremmn mia war @R wan MmN T e AuerEt fawrEn, fegmet 3R gee
TR ST |

® Jf¢ Non-Standard OMR Sheet STERA™ ST, fSAM@@ETET MaaT-maf I T8=1 (Roll
No.) S ferems &1 Srrmme T fort 9 |

o formEETERT ARfCHTET BH™ TATAT™ /IR faarsame e gars e 9, fifaame Seer
T 3riTe @umRTe TifE dFE JHE A AR @ae g e 3T OMR e faersat
TREATET ST S TuTa | SReT AR JenferT /B feersare A wsf amew 3 gars
WA 3T&AT TSI ST BT AT €T e/ SHTd ST |

o fsarrEmn el MaE Y@M THT ST rough FERET GiFM™ faaTgamas ! @l g |
feA=@™T rough TEE TR foeTsaE T oA TEWH @RS SEREEl FE A8 |
feeTsama 3¢ 9 rough FERE @A 376 R feTTE@! UM WA SR ST |

o TTHE FHEMA U™ ferEE THe” OMR A= faeme A wrme | mRf Seen 19
o St st forar ferette @ s 9= |

o T faags armE TH OMR T faag gmm@ sme | femmeamn &8 &1 OMR
ATATE AT - : TR foerst Tmr om0 d@im foemst &', waft w's smfe safeet
e el TS T S-St ot T |

® HIEH THT 2 U= IR A fSelgard W9 100 HifY U= 3T WFhHE! JiFEE-l e
TRt e 1.50 T YW |

o I fFrafy aram™ Set g’ war 19 |

o foHERT OMR T faretmgema @t fier TR W Seu-siEl e Qi@ 317 Qe
AT |

o 31are & it glwenfy e marme arfgamn @it @ faemst et gimer me
Taie SIFTH, SR e, s7ar, 9, &< A1 3UiS | o ST Jres sl T BiEeEE s -
St TET GRS TSI ST SUSTE BIATaHRGE T A1s BT 851 1 A0 |

Important Instruction :

o foAmrramrn e wHrEn wiwife g e % 'sEt OMR e faemsf for sermeme o
" gt A | el afed femrmmn wam wam faemef %' <o @t T faeme fo
ST @A et w'e < forA A ot for semwt e WrerwE e |

® 3THSE WATE! ARTAE farm fsAreamn Amfemfy smamma OMR A faemgst ema
i feeTgEian ST gl ARTH | TSTee1 STHWIE gt Tamned fFems THemmE S |
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frdw

uTd: 09:55 &t | Yd Y9 Y 7 @i |

OMR STR-U= & 3IUFe I | Jg I fga o € gg a4t T3 AaHiges U |

o vilieT Tord T foeft wiemeff i wdian wam o wiat yET 1o wier e Bidt S i 1A
Tl < St |

o fe I ghiemeff Torq qlent 3TUTT B A1 W IfectRad FEHt 1 oot T 7, 91 39 3™
U T SR |

® Non-Standard OMR 3W-93 % 391 7q eqefl 379a1 Tet =, I gfedent # fou M0 v w
wog 9 4 ford |

o Thianefi @i frfterss g feu o ufefa /A 3fic W & IR SR T TR, Ugeh 9 3 o &
¢ 3R g IR T gf&qeht 3T OMR IT-94 f{iees i Hiad o &g | 3R foreft aliemelf 4
Iufefa /U 3ffe W e gedter T foham, a 3| wdeneff s rufeer awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T W weh | wdeefi W
(rough) T IT-9 A7 31 Ferell T8 & HITe W & L Feh | I qhiemel ST-u9 W s W
(rough) T AT 2, A T IT-T T JoTeh a1 a1 ST |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH € & S | Tt §H W1 91 Ig & &
for whtg riiter ser—v=t & fean wmem |

® T If&ieht < T1Y T OMR IW-97 fean smom | wieneff 39 ffde OMR IW-93 # ¥
GfEent 1., T GFETehT T I 3T HTHT 1 IS AT Torawor FraeTi & shaet el 31 et sicl-
Ui5e U | W |

® Ui ST FHA 2 FU BTN 3 ¥ GfETehl § 100 T & 3TR Jeish I o foIw 1,50 376 i |

® TTeTd 3R o foT0 g ThRTeHeR 37eha 721 g |

o TR 1 38 T8 T 3R OMR IT-T3 W hael Tl AT AT STA-Tig< 9 § |t FIAC
WA B |

o wlieneff 379t glaen o fo7u e T T 7o gfecent w1 Teieh Sve S5 - wTfveh 8T, S — ST,
s, srel, fawdt 37t 3t | 30 ey o wren o weentor 8 foneft wehr 61 fe o wmem 9 srgfaen
B W 37T 7T i & HE W S |

Important Instruction :

o ulignedi wig gHivaa o & foh 39k g1 W9 YRaent &1 g OMR SW-U3 § &@ &1 ¥
T /T Toha T B | SCTEUREEU, A udienelt it wuA giere @ ®ig ‘C’ @, @ OMR
IW-U H e “C’ foramn gnm 3R 9= “C? Y shien &1 BRm | af uvA gl § g 9t o
30 e 9 HE femfa fore, A gema wdten Trfierss @ o wva gt agem % |

o Tlten WA BieH ¥ Uget udiendt i Fiersh o 4 OMR STR-US & WY U9 Yieaent ot s
ST BN | ST 3¢ STJUREd o w9 | THel S |
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1. 31st X6, 2022 FACICH ST I (P2 &l SR ?

(A) e (B) =i
(©) Tl (D) Jfg
1. 2022 3G 31t 6 PN FOBEN (el e ?
A T (B) e
(©) Tl (D) Jfg
1. 31st¥E, 2022 B AT ST 9Hed e g 2
(A) TH 34 (B) @ 35
(C) @ 33 (D) =H 32
1. 319/, 2022 ! 3a9 | fhae Rt & 2
(A) | (B) ddtm
(C) ddE (D) s=f=
1. Ason 31st of March, 2022, how many districts are there in Assam ?
(A) Thirty Four (B) Thirty Five
(C) Thirty Three (D) Thirty Two
2. foarforfire ¢ 1= (e cres P S o 5T 2
@) b= (B) AR
(C) === D) o
2. TG Traire (il S0 (I SPICHR 7cet AN Sl 2
(A) b= (B) il
(C) SR (D) TOH
2. TTERTE B FIEUHRI TSId &¢ gTEU STHHES T T ?
a) <= (B) Tt
(C) =R (D) A
2. el & & = o1 & 31em < oy Hur arsn war R 7
a) <= (B) Tt
(C) wImR (D) A
2. Which of the following countries share border with Assam ?
(A) China (B) Nepal
(C) Myanmar (D) Bhutan
SLRC-2022/P-I11/C 6
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3. foaferie weiomzs @iaee SibiRels 7o iz ?

(A) TR CTg (B) *mizqi W
(C) TIv B&RTI (T (D) TRl TOIE_! OTg
3. Iy Saide oTgef iy @i eTeib 7o it SR ?
(A) IR T (B) *RIZW0 OTg
(C) TIF B&RTI (T (D) IFRITSN OTg
3. BRI B SIATHR TSRTE 6 THIAT ST BT € ?
(A) T &G (B) e g
(C) U ESIitehT | (D) hifermIET &g
3. et woit 5 @, %9 1w g eE e 7
(A) TR H (B) HUgEE I
(C) U ESITiehl | (D) hefrmmT &g
3. Amongst the following bridges, which one is at the Easternmost place ?
(A) Naranarayan Setu (B) Saraighat Bridge
(C) Bhupen Hazarika Setu (D) Koliabhomora Setu
4. OO (FRY e AN ST ) =ope e ?
A « (B) e
©€) = D) 72
4. OISR I AEy SRR 0ot ST SLAmI 2
) b B) e’
(C) I (D) G
4.  WRAH T TSI AEHES GH1 THAR ?
(A) TE9 (B) @H7
(C) @+ 8 (D) = 10
4. WA o feha T 318W o Ty Hm A L 8 7
A) it (B) ¥
(C) 33 (D) <=
4. How many states of India shares border with Assam ?
(A) Nine (B) Seven
(C) Eight (D) Ten
SLRC-2022/P-II1/C 7 P.T.O.
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5. 1st FEAIRT, 2022 ACATE SPTE KGT@! @ 2

(A) &Sl el (B) SHZ “IGHEI!
(C) T oo e (D) fRE 2T
5. 2022 9TE 1st SIS MR Rreval & feer 2
(A) STETS! el (B) SR ACGRIS!
(©) fare foms (D) AR 2!
5.  1st eI, 2022 81 &N, IEMH T-TET (finance) TS HIX 2
(&) 3w fam (B) = Hied w2
(C) Teww fam smi (D) I BISIREHT
5. Ugc Sad, 2022 I 3TEH % ford T BT 7
(A) 3T 3T (B) igHIEd were
(C) fewia forea mt (D) Y ETHHT
5. Who is the Finance Minister of Assam as on 01st of January, 2022 ?
(A) Ajanta Neog (B) Chandra Mohan Patowary
(C) Himanta Biswa Sarma (D) Pijush Hazarika

6. PTE (FF 53O IS S WA TS N SIS ?

(A) FRETER (B) TOE%T
(©) TEIHH (D) =

6. TR Sl 9% AR T TR SR (I 2/ SRIES 2
(A) FRETAEE (B) TOE%F
(C) G D) =

6. e "okl AN gfia Arerd Uiy smam g9 SRR g ?
(A) TowETR (B) TR
(©) et =R D) =

6.  TI3T HeRhT 3R gafte Hiere Hfet 3/ o fepd WM W & 7
(A) e (B) Vg
(©) gt =it (D) =i

6. Poa Mecca and Hoygriv Madhab Temple is at which place of Assam ?
(A) Sibsagar (B) Tezpur
(C) Dumunichowki (D) Hajo

SLRC-2022/P-I11/C 8
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7. TR0 SRES B STl (WS N

A) MR (B) TRTR
(C) =it D) fozai2
7. TERRG SRAES Bf SIEe (FUHe 7w 297 :
A) wAiE (B) Gz
(C) oWE D) foca
7.  SIREEE YHRE 91'El ot weemEi gan ar 7
@A) w3 (B) ket
(C) amg (D) fewr
7. SINETE feud =T STHEH SHEH 1 AW STy |
A) T (B) et
(C) Tmrg (D) fémré
7. Name the tea research institute at Jorhat.
(A) Tarai (B) Tocklai
(C) Tamoi (D) Tingrai
8. & TP FARN AR :
NS (B) IFIF AR
(C) el (D) ZEETS!
8. 2w PN FIfbad I =4 :
A == (B) IR ISR
(C) el (D) ZEETS!
8. Tifafm srafien qamm aayEt gam A ¢
(A) wsfa (B) R HHAR
(C) Emfd (D) gzt
8.  AHMHAT o Yged Ilehl sl A1H TS |
A) wigd (B) &R TEN
(C) T (D) SzHTEdl
8. Name the first talkie in Assamese.
(A) Bhaiti (B) Baruar Sansaar
(C) dJoymoti (D) Indramalati
SLRC-2022/P-II1/C 9 P.T.O.
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9. EfIe FAPRE @ Tl 9 CTSS SRES ?

@A) fom (B) TN

(C) <&l (D) ©I9
9. ey Sealre RIS A0 (PTG TR TSI SES ?

A) ™M@ B) I

(©) <ot (D) =79
9. TR g ¢HT §XIh RATE ¢ ?

A) featmm (B) Ffmm

(C) drfdt (D) W
9. TefifeadasR @ T ausardiag ?

A) Teshim (B) HREM

(C) snf D) ¥
9. Which of the following river is in the Barak Valley ?

(A) Dikrong (B) Kushiyara

(C) Boginadi (D) Bharalu
10. SPIS qifen<s 3 15 2

(A) QIR (B) &8

(©) = D) wize
10. PTG e ol i ?

A) @R (B) w18

(C) I (D) =
10. 3T STETETATR gHIsT a1 ?

A) = (B) ¥

(C) w1 (D) i
10. 3799 1 TS JRH R 7

(A) g B) =%

(C) I (D) e
10. What is the State Tree of Assam ?

(A) Hollong (B) Teak

(C) Saal (D) Peepal
11, GG 8’3 GH0be(b 3 oRiEs :

A TR (B) el

(C) TERM (D) =g gl

SLRC-2022/P-11I/C
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11. T 63 GIEE SAES
(A) S@? (B) TRl
(C) ZR@FM (D) 7% fran
11. F3FA Tieh TS TR C ?
Q) g=E (B) hIcTehIdl
(C) dausTg (D) e feeett
11. 93T Wi TaEes TfRms |
A) 43 (B) hIcTehIal
(C) BeuEmg (D) s feeeht
11. The National Stock Exchange is located in
(A) Mumbai (B) Kolkata
(C) Hyderabad (D) New Delhi
12. 9B FTHRE 71 SFCGI FTHRCe T2l MR FASRS e IR AESET
ToMICH! et Sifessia »[l forie 4 |
(A) BIOS (B) Hard Disk
(C) CPU (D) USB Flash Drive
12. iy Srafes ofeial (@ @ 26STR SAMMD G FERCHE (ITF S+ IO
(2% ZAIBRS TS 2 1 IR of {ofere T |
(A) BIOS (B) Hard Disk
(C) CPU (D) USB Flash Drive
12. TERE EH 9 B TR AT (hardware) T8 @R e T8 HReH d1gars
AT (file transfer) BRI ?
(A) BIOS (@)
(B) Hard Disk (gTEfge)
(C) CPU (drfy)
(D) USB Flash Drive (3.78.5f. %9 g59)
12. frefafea =t & 39 FaR g A 5= w, 8 T Frge § g Sreged § el
TIMFTANA i oh foTd ST oham <71 Heha1 B |
(A) sTEE (BIOS)
(B) =®E fe& (Hard Disk)
(C) #.dig, (CPU)
(D) ¥.vd.#f. %9 gsd (USB Flash Drive)
12. From the following list identify the hardware component that can be used to
transfer files from one computer to another.
(A) BIOS (B) Hard Disk
(C) CPU (D) USB Flash Drive
SLRC-2022/P-111/C 11 P.T.O.
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13. Teq ©qeq Pr-oierd Ao giE niEFd e e nifFere Jeree 4l e F91
ATETED (2R -
(A) IRICPIE STl (B) A=l S ey oo
(C) SRIRET e (D) A sfige sRFewen
13. Ted SRCSY -9 STghe AHFd ©re SqrEe aRrice It (i (i
SISl AR ?
(A) IRCTEN s (B) o~ 3k ey Rere
(C) SRRE! *exel (D) T sfigler e
13. S SSRGS AT-Raf &g SRAfser @iel TRt gaep SR SATerer el ?
(A) HRHRH (B) HaqeT 3 faeam=et
(C) et (D) YR U
13. 98 Y9Il ST 3T WA o WIA—T1T o e ohl fa1ufl 9T o aoeh o YR H 37T hid! & :
(A) SRR S (B) dayet 3R foer &
(C) Eeh & (D) o &
13. The range which separates Indo-Gangetic Plains of Northern India from the
Deccan Plateau of Southern India is
(A) Karakoram Range (B) Satpura and Vindhya Range
(C) Aravalli Range (D) Pir Panjal Range
14. ST TSRS GFIFG! T AT ?
A) el (B) TreGHl
(©) g (D) ==&l
14. @ 78l Sl TorRpICS “fhed AR« ?
(A) e B) &
(C) Tagf (D) =
14. 3N T SRR ftharme s« e A9 ?
NBRIIE] (B) e
(C) WIE e (D) T
14. 3TfUeh €1 § S |1 U1 HSE T8 8 ?
(A) T B) =
(C) s (D) dren
14. Which colour is not present in the Olympic Flag ?
(A) Red (B) Green
(C) Purple (D) Yellow
SLRC-2022/P-I11/C 12
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15. 779 ISl 52F (02

A) AT (B) oG

(©) el (D) for
15. ToRF S =128 2 :

(A) 39Tl (B) wIGAAl

(©) el (D) for
15. U% g (NYEH e

(A) Errer (B) wfeamm

(C) Zar D) <l
15. % o1 TS TR R

(A)  sIeT (B) &femmm

(C) Zar (D)
15. The Capital City of Peru is

(A) Bogota (B) Santiago

(C) Havana (D) Lima

16. TG KGeaa i *I141S 7=oifes Sesiive, eqel i< Soirstel ST=oiE SE 341 27 ?

A) difrey (B) e
(O 3renfs et (D) >mrereg
16. T TGS 401 S, g @32 5 foIea S 7 2
A) difrey (B) e
(C) wigfe (D) oY
16. &9 GOSN QEA-gierar fegam, TTaRER 3T ST B ?
(A) wref (B) U@
(C) TerE= fefim (D) Fu fafiem=
16. 99 % 3IcTed, forawur 3 @Y T LI LA ST FHTSTh foiH hH AT R 7
(A) =R (B) rdwrra
(C) T form (D) THSRITH
16. Which social science studies the production, distribution and consumption of
wealth ?
(A) Commerce (B) Economics
(C) Political Science (D) Sociology
SLRC-2022/P-111/C 13 P.T.O.
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17. [afTe Sifermi «[1 Freiis S (osiE swmidlfl Hare i :
A) gofmN B) wifrE
(C) 'SREN D) TR
17. 0 Sais Sifers! (@es e S (oufes Somi fifes 99
A) i (B) SIGIeRIN
(C) efmm (D) HrCHREN
17. TEHTE EHEG ISR GUE-ar e e ied o sared! ffqm |
(A) I (B) Hf=m
(C) 3IrTsIftrem (D) SsfiEm
17. TrfaRaa g=ht o wepfoes €9 8 o S arer et uered Y gg=m i |
(&) wpefEm (B) e
(C) fferm (D) sy
17. Identify the normally radioactive material in the following list.
(A) Plutonium (B) Germanium
(C) Osmium (D) Cadmium
18. Sferel (it &fSlhl “we fpseren (e(d AT ?
(A) 5 (B) ®
C) = D) o
18. SRRER @I TS 0E F© S (ITETRIT 2T ?
A) +m (B) r®
© = (D) =i
18. vicfiaet SIS HE RIS ATeE Tl T ?
(A) @5 B) @7
(C) @6 (D) =18
18. afefarar §, yfq & fepas Raemt wIc T g @ 7
(A) U= (B) @rd
©) B (D) 31
18. In Volleyball, how many players per team are on the court ?
(A) Five (B) Seven
(C) Six (D) Eight
SLRC-2022/P-I11/C 14
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19. fforie TimEs @aee e Sesifs e o[l 727 2

@) P (B) ARl

(C) T (D) =Tt
19. fiow Swafis Tl S @b Seelfe Buem @ =l 2

@) P (B) s

(C) T (D) =Tt
19. B o9 ¢HR fEaTer™ e aEiEme ?

A) fay (B) T

(C) g (D) =g
19. frefafaa At § & S e & 78 feadt 2 7

A) fay (B) T

(C) g (D) e

19. Amongst the following rivers, which one does not originate from the
Himalayas ?

(A) Indus (B) Ganga
(C) Yamuna (D) Narmada
20. R TRESTS 11T Ty I 2 :
(A) 100°C B) —40°C
() o0°C (D) 4°C
20. S IO GG 2 :
(A) 100°C B) —40°C
(€ o0°C D) 4°C
20. SEST GUTSSTE CFT TSR TS A 2
(A) 100°C B) —40°C
(€ o0°C D) 4°C
20. U o1 T ARERdH BT 2 -
(A) 100°C B) —40°C
(€ o0°C D) 4°C
20. Water has maximum density at
(A) 100°C B) —40°C
() o0°C (D) 4°C
SLRC-2022/P-111/C 15 P.T.O.
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21. TRl MU bR w1 12e1 @ eamrel Il FaiEe A =ed 2019 b7 Gell2 117
g 41 (2fed ?
(A) e *fe Sl (B) e K et
(C) w1 f2 4 = wifeas (D) S 51 SR
21. G SEie @R ARPEAIG &1 37 @ 37wl A2 THITS FAK &) 2019 N a2
T SRS B ?
(A) PG SRS (B) e [ =S
(C) e 2 4+ (2 SIS (D) & qIble SfeT
21. TR §§ AEUREE! § 2019 RN AR THIAE ‘3@ B¢ §YFAE I @it
GRYTE!” STRH] JRSTR G ?
(A) <o wifed AR (B) i fereptat i
(C) & o & IThrEm (D) I T=E1S I
21, 1 GO ST TE U H sl AW o 1w Jorg 2019 # FrafeiRaa # @ o €t Ao &
FHI S oft 7
(A) <o ifed AR (B) i fereptd 31fim
(C) & o & IThrEm (D) A =13 I
21. Which of the following schemes was launched in July 2019 to accelerate
water harvesting and conservation measures ?
(A) Jal Shakti Abhiyan (B) Jal Vikas Abhiyan
(C) Jal Hi Dhan Hai Abhiyan (D) Jal Bachao Abhiyan
22, TWHRIRS (S 2 I RN 49 1S o 727 ?
(A) TERE (B) =it
(C) Jsie (D) WG
22, 0 @RS (GlF BAG WfeTe (991 QTSR A0 I 17 ?
(A)  ferare B) =fem
(C) TEiRsilS (D) TG
22, TERN I8 STRATRT YA HeFedst TAlea g ?
Q) g (B) il
(C) wSTETE (D) HEfEr
22, Trefafaa § & 5 o1 wH Yeiforam &9 8 Helta A8 2 7
Q) g (B) il
(C) wmETia (D) wTERET
SLRC-2022/P-I11/C 16
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22. Which of the following locations is NOT associated with the petroleum sector ?
(A) Duliajan (B) Nazira
(C) Bongaigaon (D) Margherita
23. T (TS T 719 8 Ol 9 (GST) el a1 C2fe ?
@A) @ (B) @
(C) Jl=rel (D) S G2
23. I oD 212 #4198 (11 F9 (GST) B AR 2
(A) @i (B) T
(C) Jl=rel (D) STl
23. 99 gIeUE sAfgga! fam Tea st e < (GST) 311 =/ ey ?
(A) S (B) W@
(C) el (D) I
23. %] TE 9a1 K (ST 3.) AN L AT T8l ¢ hid &1 o7 ?
(A) A (B) W
(C) k1Sl (D) I.v4.T.
23. Which country was first to implement Goods and Services Tax (GST) ?
(A) Germany (B) France
(C) Canada (D) USA
24, O[Toq TR SR 17 © [5e e aq Tl Sl w1 (2R ?
(A) wPTg (B) 3w =
(C) el (D) et
24, OISR R 17 R 4= @it el e e 2
(&) TPTR (B) ReTm =i
(C) =Pl (D)
24, TEAN THE SRERATEST WA fafdty @t 17 g efien € ?
(A)  TAHER (B) T &9
(C) g (D) @t
24, WA o HIIYH HT 3To¢ 17 foheeh IVeH & Hafua g ?
(A) Tt (B) Y3 Hfel
(C) 3T (D) |t e
SLRC-2022/P-I11/C 17 P.T.O.
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24.

Article 17 of the Constitution of India deals with the abolition of :
(A) Slavery (B) Bonded Labour
(C) Untouchability (D) Sati

25.

25.

25.

25.

25.

1919 57 fTfe1Rre ! 96+ 9t FRf FMRafb® @t wifee ?
(A) A =2 Y2 I

B) TR T C FE el

(C) 3% reie

(D) SACRIFRIE 15T IS T

focw Sraire @ w615 1919 @ 9fe =@ 2
(A) AT i A

(B) DB GRS TFIF (el 2

(C) %

(D) SICRINSIRTRICR 7: 4w ol

MR §6 AT § 1919 AT ARG ?

(A) Tere TRMA THRSH™ (B) HIH — IEABISH BIEATEISTHR
(C) TN SRETESTE (D) ferataren amf gUREER
ffrfga # & o W oo 1919 F T g5 oft 7

(A) Tere ke Ti feparm (B) Tidw SIS U 1 Tun 6 1S
(C) <et &1 favrea (D) ST ST HTS

Which of the following events did NOT take place in 1919 ?
(A) Rowlatt Act was passed

(B) Montagu — Chelmsford Reforms were announced

(C) Partition of Bengal

(D) Jallianwala Bagh tragedy

26.

fferfres @ 123 oo gtfes A9 (Economic Survey of India) &M
FE ?

(A) BT T “ifsm (National Development Council)

(B) @ 1@ (Institute of Finance)

(C) SR “fiey @fSd (Indian Statistical Institute)

(D) &€ TFee™ (Ministry of Finance)

SLRC-2022/P-11I/C 18
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26. I SEerE W @b SRced Sdtes T (Economic Survey) &M FF 2
(A) GIORT Savgel “Ifsam (National Development Council)
(B) @ " (Institute of Finance)
(C) SRR PRy A2 (Indian Statistical Institute)
(D) f<@ TFeT (Ministry of Finance)
26. TTERTE ST SS3TT S ATH 3T i3l @i fegl ?
(A) g ST Tﬁﬂ'ﬂl (National Development Council)

(B) IHIS[ 3% BlE
(C) 3femm Rfcfesa s=te
(D) Tafifer 31 wig@

26. TrerictRad o § w9 WRd 1 31T Faequr YehTird shidr & ?
(A) TN ferehre witye (B) ot Heum
(C) YR HRgehia T (D) T wETer™

26. Who among the following publishes the Economic Survey of India ?
(A) National Development Council (B) Institute of Finance

(C) Indian Statistical Institute (D) Ministry of Finance
27. ffifie @M @ 9Tifes Sememie FF0E Tom TITFES @ g 5IFed 2o
P ?
A) HESiES (B) =i
© f (D) T@©
27. T T@Ee @ ALNSTs B SRAMTAE oW AP VAT @R e
qCF ?
A) TWEsiEE (B) e
©) ff¥re D) e
27. TERH §¢ Y@ g fHarma méet fogrem $En hRE! TRt aaml ?
(A) A (B) gfwemd
(C) TS -HI=T T@fe (D) = @t
27. Tr=fefaa d 4 forg sreismer |, avft Scutes GETed TR o @i 3R e d ga @ 7
(A) FEETE (B) dsfraet
(C) Tuftm (D) <rh
SLRC-2022/P-I11/C 19 P.T.O.
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27. In which of the following economies, all productive resources are owned and
controlled by the government ?
(A) Socialist (B) Capitalist
(C) Mixed (D) Dual
28. TRl RG2S =S SRR 1942 577 SRS Sjtol SITWE ST Fai2e ?
A) RSt o (B) IR B
(C) w2 TG Famfe (D) e Tmi
28.  TCY SRS (IR FHTT 1942 0 TR 9[RS AK] SIS QTS SR SIS AR ?
A) RRS! o6 (B) IREH EHiEAN
(C) S19PD FIfG Tl (D) @S Tmi
28. TR S« SRR HTeaT M3 ‘IR TAR THTEERA @ § 1942 HISIRTE ST
AT ?
NI EISIRIE? (B) &M wfeam
(C) s it e D) st A
28. Y 1942 T HETCHT e GRT WRA B! IMGIeH (HHTRad H & fohd T TR I fokam 72 o1 ?
NI EISIRIE? (B) &M wfeam
(C) 3T shifel HeH (D) wifer HeH
28. In which of the following locations was the Quit India Movement launched by
Mahatma Gandhi in the year 1942 ?
(A) Shivaj Park (B) Brabourne Stadium
(C) August Kranti Maidan (D) Pragati Maidan
29. 2022 b SR T2 T, AESPTIS FCIH L S 2] T4 02 2
@A) 3o (B) T
(C) drerEe (D) Teq T
29. 2022 IR GIKCS (@ TS ASPTSF AT ST T2 2
Q) o (B) TeTm™
(C) 9r&Ee (D) Teg &
29. ¥ 2022 IS ST HRMSTE YA e UgsieT daeH Ml Te 31me Safgge! SifeH
Y g ?
(A) HARCH (B) "= WeH
(C) TSTEI™ (D) ST HA
SLRC-2022/P-111/C 20
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29, SHeRl 2022 d, T<T AT | Faifeeh Hidl arel TsT 2
(A) HARCH (B) T T
(C) T&IM (D) W

29. As of January 2022, the state which has the maximum number of seats in the
Rajya Sabha, is :
(A) Karnataka (B) Madhya Pradesh
(C) Rajasthan (D) Uttar Pradesh

30. TFTSH IS IASTGIITS RS BTG SIS Il Fifzet ?

A) =@ (B) ST
(C) Frpse (D) IEBS
30. TN A ASTFRIC R e SRR Ay Feafeger ?
A) =R (B) Seere
(C) fmpez (D) TEBY
30. 3 T 371 6N AR GRS T ST 2T e ?
(A) T (B) 3
(C) ooy (D) &Y
30. TRH TSI < ITHehTCT o GRIH & | WG 3711 T 7
(A) e (B) Mk
() foorr (D) HIT
30. Hiuen Tsang visited India during the reign of the King :
(A) Harshavardhana (B) Ashoka
(C) Vishnugupta (D) Samudragupta

31. =RM ifve] W2 FEEG (517 o157 (1) SRS :

A R B) &
(C) =AM (D) g
31. W=RM el W02 ANES (5171 o157 (1) S :
@A) fa=reE B)
(C) 2RgRmM (D) Tole
SLRC-2022/P-111/C 21 P.T.O.
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31. wrewe anfedt e Siier ATer MY WHhT, et TrIT (el 1) HET |
(A) ST (B) feeeft
(C) et (D) e
31. T Teg (&), EHE JTGe 3118 1 Hehall fEa §
&) HNTR (B) feeeht
(C) &e (D) Tt
31. The Gol Gumbad (Gumbaz), the mausoleum of Muhammad Adil Shah, is
located 1in :
(A) Bijapur (B) Delhi
(C) Hyderabad (D) Bhopal
32. OISR SN R belibet NFelere Seuiee @il ‘UDAN’ © ‘A’ 746 55 eieh! <5 2
(A) 9N (Aam) (B) 9I< (Air)
(C) <™ (Aakash) (D) «fSE™+ (Aviation)
32. OROR SN R Bee WEeleER Sritl I9ge ‘UDAN #=ribes ‘A’ 346 o
RN ?
(A) Aam (B) Air
(C) Aakash (D) Awviation
32. WRa fafye uiirees A gere UDAN game T, ‘A’ 31 o1 et ?
A Im (B) T
(C) 3T (D) TfrEa
32. YR % AN 3¢ HATH 1 9gdd, ‘UDAN H ‘A’ ST AL & 7
(A) Aam (B) Air
(C) Aakash (D) Awviation
32. What does ‘A’ stand for in ‘UDAN’, the initiative of the Ministry of Civil
Aviation of India ?
(A) Aam (B) Air
(C) Aakash (D) Aviation
33. % 10 1Y (FIGT IRIT FHR TS THANS (/1 @2 SIS il (Bl <5 2
(A)  @TRGS B) THez
(C) Tz’ (D) f=Ti
SLRC-2022/P-I11/C 22
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33.

33.

33.

33.

% 10 &7 (I BIPR I FonRICT o103 (il SIS eifopie &2y Tofeie =7 ?

(A)  @RGE B) T hra

(C) Tl (D) fe=rcaT

% 10 9TE shig STSIR o8- AT o9 shira frfafas yrarft s 2

(A) THA (Airtel) (B) ttwH (TCS)

(C) o (Wipro) (D) fmEE (Reliance)

HIF BT T 10 ARG HUS TR oo bl T&e ST aTelt Tgefl WRd Ul 59 778 ?
(A) THeA B) d#@Tm

(C) famn (D) T

Which company became the first Indian company to hit the ¥ 10 Lakh Crore
market valuations ?

(A) Airtel (B) TCS
(C) Wipro (D) Reliance

34.

34.

34.

= A efevl F1 e 75 -

(A) SIS SCITIE S BHIF TEeSIR (G
(B) Sl SR e S O bk 39

(C) <o PR oIF qEsF

(D) e (72 S foraage wt

G e 2SR FCATRCE :

(A) SFRIS HTMIFH G3R TR IFTSS(2 25
(B) =l ST wifel @32 T[S b 3]

(C) e Ptz «3R AELF

(D) SRoeTe (eF @R foeaes vk

TS BTG A RGN 7

(A) T TS A TSR TeaTHHTE Teet
(B) 3% SATEH 3Tl SR AT o5 S

(C) WTARE AR TSTE

(D) HidielTer A8 3T FoieH g

SLRC-2022/P-11I/C 23 P.T.O.
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34.

34.

TS Ut T T fehEeh R Al TS oft 7

(A) fioe SRt 3R TER TeavqTs 7o (B) 310N STE% 37efl 3R guTS=g |
(C) WTafts 3R TR (D) WS 8% 3R feaier g&
Swaraj Party was founded by :

(A) Bhimrao Ambedkar and Sardar Vallabhbhai Patel

(B) Aruna Asaf Ali and Subhash Chandra Bose

(C) Bhagat Singh and Rajguru

(D) Motilal Nehru and Chittaranjan Das

35.

SIS MRATT @G Sorm o, wifs, 34, fom oI wrge fofes (@R sr[e
[BRERISIREICH,

(A)  SIJRT 25 (B) Se=n 13
(©) e 15 (D) o 19
35. SIS MR @I 4ACe wf, §ife, 3¢, fort @) gty fefers ) Faes oy
2R ?
(A) 25 TR 4=l (B) 13 =R 4IAl
(C) 15=R4«t (D) 19<R 4l
35. WRATN HlOGH o WIRRT 9, ®ior, g, YA AN SHEM SRAH  |9EmE
EIRICYRIRICIR OOl
A) @I 25 (B) @rf=r 13
(©) @15 (D) @19
35. WRATT HIGTH 1 b A1 3o &, Toraw, Sifd, i 3T S M % SMER W YeuTd i
THATE ?
(A) =T 25 (B) = 13
(C) ¥F= 15 (D) 31g=ag 19
35. Which article of Indian Constitution prohibits discrimination on the grounds
of religion, race, caste, sex and place of birth ?
(A) Article 25 (B) Article 13
(C) Article 15 (D) Article 19
SLRC-2022/P-III/C 24
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36. TS T@IRR 2T GG “Wb o1, @D *Hie” Siba (TTe S 7= ?
(A) = S oI Forlel TFAER
(B) T TZeIT
(C) fZer o< Ry Sagey et
(D) W= 7o Tz TZelleT
36. TfeTe TFeRIE il “@h Able @b sfoie” w/fpgmid 10 3Ye 7 ?
(A) = ¢ ~AREIE Fole TFAER
(B) ST TR
(C) wfZeT @ Py Savgey TFeIeTR
(D) =R 379 el NZelleT
36. TEMTE BHT &« Tt fawmaT “sidl s=nal, 9t Ugran” AauiRa gargsi aea 1 ?
(A) GEfa AR 1@ I T fawE (B) T3 Sirmeg Wt fawe
(C) eSS Ghean S wft e (D) g wee Smreng oo fer
36. TAfaiRad & @ & o1 TETe “oé S=1s, 9 UQISl” A1 i UEd W ST & 7
(A) TR 3T YNGR e T (B) TTHoT bt T
(C) wfgen v aret foremmar waTer (D) THe HETge forehE gare™

36. Which of the following ministries is NOT associated with the initiative of
“Bet1 Bachao, Beti Padhao” scheme ?

(A) Ministry of Health and Family Welfare
(B) Ministry of Rural Development
(C) Ministry of Women and Child Development

(D) Ministry of Human Resource Development

37. P it TweR ¢ S[/fEs

(A) e (B) @20
(C) a2l (D) fezsro
37. PN DR TR S[rEs
(A) e (B) @=2b
(©) ol D) fe=sro
SLRC-2022/P-111/C 25 P.T.O.
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87. 9™ Afeshel BUHHTAHRT §&1 ¢ ?

A) oo (B) <irETd
(C) TR (D) festre
37. 3190 Hfsshet hierst ferd & —
&) foeR (B) wiRER
(©) TETER D) fese
37. The Assam Medical College is situated in :
(A) Silchar (B) dJorhat
(C) Guwahati (D) Dibrugarh
38. SIS HIBINT SIS (IR el e 1 P 0o &ive 2
Q) e (B) ~lfozmel
(C) fefeacbatizremim (D) AL TavEey
38. SIS TR SCUICo! el BHL (FIAGR 702t HTS ?
A oFme (B) ~ife=ae
(C) Tof&Blenzrs™a (D) ASAL TR
38. WA SL@R gaTg, THeM S5udyel, TeRH S aies ¢ ?
(A) EEIHR (B) "N @ g
(C) AR WA= (D) TSI AT SITTTS
38. oM Sguy, YA THR 6 fohe Ugat & T TR ?
(A) PRt (B) ==l
(C) feforeetrrom (D) TSt ferenm

38. The mission Indradhanush, an initiative of the Government of India, is
associated with :

(A) Immunisation (B) Cleanliness

(C) Dagitalisation (D) Highway development
39. T ST IAANS ZA I ISR [ARAIS T 30 =z ?

(A) TN — SIREY (B) G — =PI

(C) RGN — el (D) sfefz - Tfw
SLRC-2022/P-111/C 26
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39. I @ Toresi (dance form) © ©IF THwRS AT AT & (e (SITITD S0 ?

(A) TR — SIfeTg (B) @l — =P

(C) I — (D) efef — S
39. TERTE BHTT ¢ ST HEME ST 3R fafy 3fommr tesisi miererm 2

(A) &0 — A AT (B) @ — 3

(C) wifefiargn — shiet (D) ifeet — affem
39. Frfciftad # @ 6 |1 S1eT, T T1 3R 37 YA TAT < HeH H 7Ted & 7

(A) I&FH — AT (B) @it — 31w

(C) wifefiargn — o (D) nfedt — FAfsen

39. Which of the following pairs is INCORRECT with reference to the dance
forms and their native states ?

(A) Yakshagana — Tamil Nadu (B) Sattriya — Assam
(C) Mohiniattam — Kerala (D) Odissi— Odisha

40. SPF G N6 T (Ramsar site) STEAMRG (2R :

A) TR et (B) FFveItel
(C) TR e (D) fCz-Toeaml
40. SPIIET GG APTE A1Z5 (Ramsar site) TG 28 :
NGB (B) IoHeAl
(C) g et (D) fez-TramEl
40. TIERITE BHR SE3T M H98@ Ramsar site fa@r |
(A) A foredt (B) seeH
(C) =iigsh ferett (D) feg-G@ran
40. 379§ THAT THE A5 HYMH 2 -
&) fem e (B) sTeH
(C) =Iigsit sfiet (D) fes-G@ran
40. The only Ramsar site wetland in Assam is the :
(A) Deepor beel (B) Bordoloni
(C) Chandubi beel (D) Dibru-Saikhowa
SLRC-2022/P-I11/C 27 P.T.O.
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41. 9O TRIE fqge “IRETHI (2= 6 (6., | fqgehR FifT 23
(A) 6T5.:.2 (B) 6 .[.2
(C) 3w.M2 (D) 3 w2
41. a3 s fagrem «fif 6 or:f: | fageiba e 221 ;
Q) 6wLf2 B) 6 Ti.f2
(C) 3T.f2 D) 3 w.f[.2
41. Y RIS Ay sr@rumty arfife fmmen 6 9.f. srveen 9 sEfyemty geastmn
59 ?
A) 6 @.fu)2 (B) /6 (&.fiy.)2
(C) 3@.fy)2 (D) +/3 @.fir)2
41. T quaTg Piget 1 a6 T 8 | B w1 S 1
(A) 682 (B) +/6 9.1.2
(C) 3§..2 (D) /3 8.2
41. The perimeter of an equilateral triangle is 6 cm. The area of the triangle is :
(A) 6cm? B) /6 cm?
(C) 3cm? D) /3 cm?
42. /0.04 ++/1.44 ++/1.69 +0.0009 T T (== :
A 1.73 (B) 2.03
6 2.73 (D) 1.03
42. 0.04 ++/1.44 ++/1.69 ++/0.0009 €F W :
A 1.73 (B) 2.03
6 2.73 (D) 1.03
SPACE FOR ROUGH WORK
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42.

42.

42.

J0.04 ++/1.44 +1.69 +/0.0009 1 a1 St1em™

(A 1.73 (B) 2.03
(C) 2.73 (D) 1.03
70.04 ++/1.44 +/1.69 ++/0.0009 HTTFE :

(A 1.73 (B) 2.03
(C) 2.73 (D) 1.03
The value of /0.04 ++/1.44 ++/1.69 ++/0.0009 is :
(A 1.73 (B) 2.03
(C) 2.73 (D) 1.03

43.

43.

THIC §F TR 45% I T S TR @B 30% T I | 22 IF (@R A SPoirs
g

(A) 2:3 B) 3:2

(C) 3:5 D) 2:5

G TR 45% T GG FRAE 30% € T | @2 Wil Fom A AFe
eI

A 2:3 B) 3:2

(C) 3:5 D) 2:5

43. WY IANWIN 45% 3T MGl HAE SHMEN 30% S 0 SR | | TR A
AT TS A&
A) 2:3 (B) 3:2
(C) 3:5 M) 2:5
43. T FEATHT 45% GEU H&AT % 30% o THH & | Tgl T 51 gl HEd | I & -
A) 2:3 (B) 3:2
(C) 3:5 D) 2:5
SPACE FOR ROUGH WORK
SLRC-2022/P-I11/C 29 P.T.O.

Page 29 of 64



Al | JobAssam conr

43.

45% of a number 1s same as 30% of another number. The ratio of the first
number to the second number is :

A 2:3 B 3:2

C) 3:5 D) 2:5

44.

44.

44.

G5 eTq (PRSI &1 15 98 B Bfe et (2fwst | &tes & o qi2 AW 7elihre 46l 31’ q19
IR &3 AR BRI ©ie “112fee1, (ST Werihie 2! &1 1471 (2R :

@ 5 B) 7

(C) 10 (D) 14

98 5 BfF (toffees) € el (R(ETA WY o= FE ST 29 | FoI6A LTSFI0 (=0, WeAb
AT TR G2 B (toffees) T | KRGS (REAWE AW 722 23T

@A) 5 B 7

(C) 10 (D) 14

Y A W8 SETHIAT 98 2% (toffees) TR QMM | & Sl ST ATHHE!
AT YA BaETBRA AR 2 T <f diuH | delieTa O ETErh R
St AT ?

@A) 5 B) 7

(C) 10 (D) 14

44. TH g H $S ASh! bl 98 TMHAT A1 715 | THE o TcAeh TTSh ohl, IS ol T&IT ¥ &1 THT
<t fire | T 3 wrei 1 e o
A) 5 B) 7
() 10 D) 14
44. 98 toffees were distributed to some boys in a group. Each boy in the group got
twice as many of the toffees as the number of boys. The number of boys in the
group was :
A) 5 B) 7
() 10 D) 14
SPACE FOR ROUGH WORK
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45. I cos 6= %, (S(® sec O I :

2 2
-b b
@a 22 B) -
b a
(C) +a?+b? (D) b
a+b
45, Wcos@Z%,Wseceﬁﬁww:
2 2
-b b
A) aT B) -
a
(C) +a?+b? (D) b
a+b
45. —gﬁcose:%,mseceﬁm\‘mw
2 2
-b b
A) aT B) -
a
(C) +a?+b? (D) b
a+b
45. aﬁCOSOZ%,FﬁseCOWIﬂ:{ﬁTH:
2 2
~b
@a 22 B) -
b a
(C) +a?+b? (D) b
a+b
SPACE FOR ROUGH WORK
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45. Ifcos 6= %, then the value of sec 0 will be :

2 2
-b b
W) B) -
(C) +a?+b? (D) b
a+b
46. ‘/@—,fﬁ—,/ﬁawﬁ®W|
729 V144 V81
5 7
A —— B -
A) 5 (B) T
20 11
C) — D) ——
© 57 D) 26
g6. 220 _ 125 16 qoqm
729 V144 V81
5 7
A —— B -
A) 5 (B) T
20 11
c —— D) ——=
© 27 ®) 36
[225 [25  [16
46. |—— — | == — | fumfET ?
729 V144 V81
5 7
A —— B -
A) 5 (B) T
20 11
c) —— D) ——=
©) o7 (D) 26
[225 [25 (16
46. === _ | == _ | S HE G HIWT |
729 V144 V81 i
5 7
A —— B -
A) 5 (B) T
20 11
C) — D) ——
© 57 D) 26
SPACE FOR ROUGH WORK
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46. Find the value of \/@ - \/E - 16 .
729 V144 V81
5 7
A) 9 (B) -5
20 11
©) T (D) T

47. ‘A @ @ P =R o[/ @t 1:00 35 1 ./ G @6 A9 998 A | B @
«F 2 P  7[ @6 e [@fer 1:10 qeie 2 WL/ Gres @6 T4l SRS e | H
B A AT QTS AR, (S8 PQ I T :

A) 1.5.[. (B) 1.75 ..
(C) 1.2Rf D) 1.25RF.M

47. ‘A’ SR @ P IR (A0 [ 1:00 IR &fs s 1 ok roor ©F 399 |
B [t 1:10 PR @2 T2 P (AT 952 ey &lfs ¢leacy 2 NoR woor Iial
W e | AW B, ‘A 99 RS Q SR [Wiere 2% o PQ 79w
A) 1.5.[. (B) 1.75 ..
©) 1.2=.M. (D) 1.25 .M.

47. ‘A’ 31 P SamfAwr 1:00 U, fomme 1 (. aeheg) RSt geel | B’ e § T
SR P s 1 v fame 1:10 fu.wm. fomma 2 it /A @nesst geeE | i B
A’ @ SRAT Q 3T AT, PQ 3 e e
A) 1.5T6.f. B) 1.75f%.f.

(C) 1.2 f%.fa. (D) 1.25f%.f.

47. ‘A’ QU 1:00 I AT AN EIE P A 1 W /T, G A TE BT | B 310 A7 36
WA P A femd guer 1105w 2 Y. /@, R Afd @ e Har 7 1Al B, ‘A’ 8 Q
W‘Hﬁﬁ%,?ﬁPQaﬁ@%:

(A) 1.5 fw.. B) 1.75 w1,
(C) 1.2 Tt (D) 1.25 .1t
SPACE FOR ROUGH WORK
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47. ‘A’ starts his journey at 1:00 p.m. from a location P with a speed of 1 m/sec.
‘B’ starts his journey from the same location P and along the same direction
at 1:10 p.m. with a speed of 2 m/sec. If ‘B’ meets ‘A’ at the location Q, then the
distance PQ is:

(A 1.5km (B) 1.75km
(C) 1.2km (D) 1.25km

48. T G ANE o1 &AW 40% BPT F91 R3 I OF =S 20% I 541 241 | J019 9o
O[] TG (2 :

(A) 20% B) 40%
©) 24% D) 28%

48. 16 T T &AW 40% FAIC] 21 AR ORI 20% (S 1 231 | Y00 (MG AT
EIG
A 20% B) 40%
©) 24% D) 28%

48. TR JEICH S8 fifeema 40% THTE SR SFER 20% FRET | SEIEH SEAT e
S Sl dlefrsa! ?

A 20% B) 40%
C) 24% D) 28%

48. T TEG h hIWA H TG 40% hT BT hI A 7 3 BT 20% i ghg A el 2 | Fiwa A
G TRETH BT
(A) 20% B) 40%

C) 24% D) 28%
SPACE FOR ROUGH WORK
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48.

The price of an article is first decreased by 40% and then increased by 20%.

The net change in the price will be :
(A 20% B) 40%
(©) 24% D) 28%

49.

49.

49.

49.

foTeris ©fzq fese @F Bl QT oWl @ A0S fShite ©f Tl w41 4e19 2w
Iisfieres T 12 @R | I O 2w el T 12 @ 59 SRS FE, (S8 30 Teq 5% &
R D 4o 2RI

(A) % 5,420 B) 25,580

(C) 25,620 (D) % 5,780

fors Oix &l YTOR W2SICF ALY T @ @ifolv Ok &l i o o (=es T 12 Bpl
T 27 | AW OT @2 ol 3 12 Bl &l i % 903 O forenid GIib 1263 30 eld i
209 :

(A) % 5,420 B) 25,580

(C) % 5,620 (D) 25,780

ot At MY § (Savings Bank) 3@ T gHYE! | o RYEAR feais gt
S FOEETE SRYET foeiigg T 12 T SifeE S R | e o= 7 12 T 9ty aeies
SRYTARIET TR 8 30 T Stieamma fersts gyt T faana sw=

(A) % 5,420 B) 25,580

(C) 25,620 (D) % 5,780

AT 3794 S Sk H 39 W U TET SHT w7 foh 7 3T T Imeht st ulfy 3wes et
fe <1 smr Tf¥r | % 12 31fesk 81 | 3fe o8 eet o % 12 St et 2, 1 oftst gra 30 fedi o
31d | ST <Y TS Ht TR Bt

(A) % 5,420 B) 25,580
(C) % 5,620 (D) % 5,780
SPACE FOR ROUGH WORK
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49. Liza deposits money in her savings bank in such a way that every next day
her deposit amount is ¥ 12 more than her previous day deposit. If she starts
her deposit with ¥ 12 on the first day, the total amount deposited by Liza at
the end of 30 days will be :

(A) 5,420 (B) 5,580
(C) 5,620 (D) ¥5,780

50. =2 alb (Data Set)
1,2,4,1,5,12,7,8,5, 1,16, 17, 12

J 45 forefy 547 |
A 8 (B) 7
©) 5 (D)

50. 2 O Tl fovefy 091 -
1,2,4,1,5,12,7,8,5,1, 16, 17, 12
(A) 8 B) 7
© 5 D)
50. TTERTE BFTT WIS THT @t AR |
1,2,4,1,5,12,7, 8,5, 1,16, 17, 12
(A 8 B) 7
© 5 D)
50. 1 T <Y ATfEhT T HIRTT |
1,2,4,1,5,12,7, 8,5, 1,16, 17, 12
(A 8 B) 7
© 5 D)
50. Find the median of the data set.
1,2,4,1,5,12,7,8,5,1, 16, 17, 12

4) 8 B) 7
©) 5 D) 4
SPACE FOR ROUGH WORK
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51.

51.

51.

51.

51.

2 T 299 SR S0 1 Al 3 79 299 BINCE ST 2 2B S 4 (29 I SR
3 Al (12 ARG R :

A) 25 (B) 41

(C) 13 D) 11

GG AT 2 B ©l9) FACE ST 1, 3 RISl FAE ST 2 GIR 4 &R Sl FHCE
Sl 3, R -

A) 25 (B) 41

(C) 13 D) 11

Y IANERE 2 I TERETE TAERGRT ST 1; 3 S TR TG St 2 3T 4 i
TS THEIGRT SR 3 | & STARSTHTRT STem

A) 25 (B) 41

(© 13 D) 11

Teh T 5 2 4 o Bt 8, 1 Ahet 1 wWaTR; 3T UM S W2 AT o=d1 8 3 4 A
WIS W 3 AT =18, B2 -

A 25 (B) 41
(C) 13 D) 11

The number when divided by 2, leaves remainder 1; when divided by 3,
leaves remainder 2 and when divided by 4, leaves remainder 3, is :

A) 25 (B) 41
(C) 13 D) 11

52.

T G 2% o1 3 Jfen “I1CeT SARCG! B Rofel vofisal I AR | ©AIHCGIF #179 qi

2

29

@A) 3 (B) 4
©) 5 D) 6
SPACE FOR ROUGH WORK
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52. (b SARE [ 3 B Ao el oA b Sl fon e 37 | walienBa o
A 3 (B) 4
€ 5 D) 6

52. HHE S@E@R (fraction) TASHRT (numerator) 3 SRISAT & @A faf
3/4 SR | & SGTERERI TSR ST
4) 3 (B) 4
©) 5 D) 6

52. & forelt =16 ST 3 i gfg a8, A Rm A - i gfgadi 2 | i s s g
4) 3 B) 4
©) 5 D) 6

52. When the numerator of a fraction increases by 3, the fraction increases by its

three-fourth. The numerator of the fraction is :
A 3 B) 4
€ 5 D) 6

1 1 1 2 .
SN N o L
2 1
1 1

SPACE FOR ROUGH WORK
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1 1 2
53. =, =, o= @R |2 @R e e ;
\g \g 4 \\g

@) \E ®

(©) \/g ®
53. \/%\/%\Eanﬁ\/%ﬁmﬁmﬁmw

@) \E ®

(©) \/g ®

3. \ﬁ ﬁ \ﬁaﬁ:ﬁasaﬁawﬁgﬁa%:
2 V3 V4 3
2
A) \/g B) 5
1 1
o f o
53. The smallest among \/I, \/I, \/I and \/2 1S :
2 V3 4 3
2 1
A) \/g B) Y
1 1
©) \/; D) 1

]

SPACE FOR ROUGH WORK
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54.

54.

54.

54.

54.

B! TRAF FALG. 40 ST PIZeq 91ALE. 4 | TRYMEE “1efF 12 2@ Pized @iaree

2

29:

(A) 20 (B) 24
(C) 28 D) 32
v3(h FRAIF TN . 40 IR 9118, 4, AW 72 1267 /147 12 2 SR O @191 :
(A) 20 (B) 24
(C) 28 (D) 32

A IR g.31.491. (LCM) o1 & 40 IR S8R <.37.91. (H.C.F.) I 9o/ 4 |
Sife & SHNET AEAM ToRE UH BROTRRT 12 SR, STl o SHSET HHA grarenme
99 ?

A 20 B) 24

(C) 28 (D) 32

T AT 1 TA.H.TH. 40 B 3R 371 . H.TF. 4 2 | I Q) T3t & " &1 A 12
2, A EEH HI AR :

(A) 20 (B) 24

(C) 28 (D) 32

The LCM of two numbers 1s 40 and their HCF is 4. If the difference between
the two numbers is 12, then the sum of the numbers is :

A) 20 (B) 24
(C) 28 D) 32
55. J51+J134 + 542+ 416 +/9 ITF ;
(A) 52 (B) 8
) 19 D) 9
SPACE FOR ROUGH WORK
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55. J51+J134 + 5142 + 116 + /9 FFIB T =97 -

A) 52 (B) 8
(C) 19 D) 9
55. TITETATE BT ORI 7 g |
J51+J134+5J42+\/E+\/§
(A) 52 (B) 8
(€ 19 D) 9
55. SAfyeafad
\/51+\/134+5\/42+\/E+\/§
Wrﬂq%:
(A) 52 (B) 8
(C) 19 D) 9
55. The value of the expression
\/51+\/134+5\/42+\/E+\/§
18 :
(A) 52 (B) 8
© 19 D) 9

56. WErS AGIE 7t AW o I 1 SISl FRF AR @O 64 | ARG I fy

i RO 2R
(A) 13 B) 11
(C) 16 D) 9
SPACE FOR ROUGH WORK
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56.

56.

56.

56.

BRI 2TS/F Y99 FNF (consecutive alternate) IR @5 64, ATF T PO
SR

@A) 13 B) 11

©) 16 (D) 9

TS B ST AR IHTHI STTer T Sa 64 | S8R AT ATt S S
A 13 B) 11

(C) 16 D) 9

TR SHHANTA TShIaL ST 1 AN 64 7 | 370 Y Jad BI G&1 2

@A) 13 B) 11

(C) 16 D) 9

The sum of the four consecutive alternate numbers is 64. The smallest
number amongst them 1s :

A 13 (B) 11
(C) 16 D) 9

57. YOI R 2 @ 3 THIIOS TR O FIROT #.97.&. | oL.1E. 590171 (0= 96 | TRy
YOI Q9T (202
A) 8 B) 12
© 20 (D) 36
57. T2 MRYF TS 2 : 3 @R O FALY. G SLALT. @7 7 T 96, AT G207
51T 297
A 8 B) 12
(C) 20 (D) 36
57. A IHNHEIH I FEE 2 @ 3 IR S@RH 337971 (LCM) 1 <.31.81 (HCF)
HSTTERTIAT STETT 96 | & Wi ST gremmat fog |
A 8 B) 12
(C) 20 (D) 36
SPACE FOR ROUGH WORK
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517.

57.

T EEAT 2 : 3 % I H & 3R 3Th LCM 3R HCF &1 VHGA 96 & | TS HI AT § :
A 8 B) 12
(C) 20 (D) 36

Two numbers are in the ratio of 2 : 3 and the product of their LCM and HCF
1s 96. The sum of the numbers is :

A 8 (B) 12
(€) 20 (D) 36

58.

58.

58.

I A’ FWIER B’ O 25% @R, (S8 ‘B’ I WENE! ‘A’ I TN (I *roRH T 27 ?

(A) 20% B) 25%
1 2

0 12-% D) 162%

©) 5 (D) 3

T ‘A’, ‘B’ TF 25% @R (@ #IF OEF ‘B’-47 (@S ‘A’ (ATF TS ¥ T 2(F ?

(A) 20% B) 25%
1 2

0 12-% D) 162%

©) 5 (D) 3

Sfe A 1 aumsn B 1 aeAfgs 25% «ifeq, steen B 1 segmsn A 1 suafgg 99 st

©H ?

(A) 20% B) 25%
©) 12%% D) 16%%
58. Ifc A HTdaT B o o T 25% ATk 8, 1 B T dad A o o4 § feha1 faea a8 7
(A) 20% B) 25%
©) 12%% D) 16%%
SPACE FOR ROUGH WORK
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58. If the salary of A is 25% more than that of B, how much percentage is the
salary of B lower than that of A ?

@A) 20% (B) 25%
©) 12%% D) 16%%

59. AMix= /3, o0T xt + %ﬁwm:
x

1 1
(A) 95 B) 25
©) 9% O =

59. Aix= /3TWO@ «* + i4 G T

X

1 1
(A) 95 B) 25
©) 9% O =

59. fex= ﬁ,mx4+i4ﬁnﬁ3nwﬁ=r
X

1 1
@ o5 ® 2!
© 9% o 1

59. aﬁx=\/§,?ﬁx4+i4<‘=b‘[t|ﬁ%:

X

1 1
A) 9— B 2—
&) 99 (B) 25
1 1
C) 9- D) —
© 95 D)3
SPACE FOR ROUGH WORK
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59. If x = /3, then the value of x* + i4 is :
x
1 1
A) 9— B 2-
A) 9 (B) 9
1 1
C) 9— D) —
©) 7 (D) 9
60 X _Y_ 7 g YT qm
| 3 4 77 2z '
@A 1 B) 3
© 2 D) 4
60. I L=Y _Z myerg LY T2 g
3 4 7 2z '
@A 1 (B) 3
© 2 D) 4
60. AR E=Y=-2 s XY 7 fyqman smim
3 4 7 Z
A 1 B 3
© 2 D) 4
60. afg L=V _Z FXIYT? e
' 3 4 7 z ’
@A 1 B) 3
© 2 D) 4
60. If gzzzg, then = +2y Z s equal to
z
@A 1 (B) 3
© 2 (D) 4
SPACE FOR ROUGH WORK
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From Q. 61 to Q. 66 : Choose the correct options which best explains the meaning

of the given idioms :

61. “To split hairs”
(A) To quarrel bitterly
(B) To complain about every small detail
(C) To argue about trifles
(D) To study every detail minutely
62. “Nail the lie to the counter”
(A) To blame a person for something (B) To expose publicly
(C) To investigate an allegation (D) To lie vehemently
63. “To see red”
(A) To be mad with anger (B) To see danger
(C) Sunset (D) To be drunk
64. “To hit below the belt”
(A) To trick the opponent (B) To defeat the opponent
(C) To take bribe (D) To act unfairly in a contest
65. “To beat about the bush”
(A) To prune the bush
(B) To approach a matter directly
(C) To approach a matter in a roundabout manner
(D) To discuss a matter endlessly
66. “Bird in hand is better than two in the bush”
(A) Probability is better than possibility
(B) Certainty is better than possibility
(C) Possibility is better than probability
(D) Probability indicates certainty
67. Choose the correct order to complete the sentence :
I. Ismelled the gas
II.  Door of my house then
III. As soon as
IV. I opened the front
A I II III, IV B) ILIILIV,I
(C) IILIV,III (D) III IV, I, 1I
SLRC-2022/P-111/C 46
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68. The following sentence is divided into four parts. One of the parts has an

error in it. Read the sentence and find the part containing the error :

“The movement which aims at
ey
raising awareness about climate change, hopes

(II)
to bring people together to think about

(I1I)

what they can do for reducing harmful pollution.”
V)

A 1Iv (B) III
© I (D) 1II

69.

“For the little boy, a lolly was tangible, whereas a promise was not.”
The word tangible in this sentence means

(A) Basic (B) Untouchable

(C) Actual (D) Edible

70.

Which among the following options is correct ?

(A) My thoughts are with the families of those who have lost their loved

ones 1n this unfortunate accident.

(B) My thoughts are with the families of those who has lost their loved ones

in this unfortunate incident.

(C) My thoughts are with the families of those who have lost their loved

ones 1n this unfortunate events.

(D) My thoughts are with the families of those who have lost their loved

ones in this unfortunate incidents.

From Q. 71 - Q. 73 : Insert the correct options in the blank space :

71. On the moon, air because the Moon’s gravitational field is too weak
to retain an atmosphere.
(A) thereisno (B) where no
(C) no (D) isno

SLRC-2022/P-111/C 47 P.T.O.
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72. in front of a camera lens changes the colour of the light that reaches
the film.
(A) Placed a filter (B) A filter is placed
(C) A filter placed (D) When a filter placed

73. In 1850, Yale University established Sheffield Scientific School,

(A) engineers were educated there

(B)

where engineers were educated

(C) 1in which, were engineers educated (D) where were engineers educated
From Q. 74 to Q. 77 : Choose the correct pair of words which are SYNONYMS to
each other :
74. (A) Emigrant — Immigrant (B) Piece — Pierce
(C) Frugal — Thrifty (D) Irritate — Instigate
75. (A) Rely — Resist (B) Rule — Rue
(C) Secret — Clandestine (D) Site — Sight
76. (A) Deride — Arrive (B) Derive — Divide
(C) Deride — Mock (D) Mock — Praise
77. (A) Citizen — Foreigner (B) Citizen — Emigrant
(C) Citizen — Subject (D) Citizen — Immigrant
From Q. 78 to Q. 80 : Choose the correct pair of words which are ANTONYMS to
each other :
78. (A) Folly — Stupidity (B) Sweet — Salty
(C) Visible — Unvisible (D) Scatter — Collect
79. (A) Advance — Retreat (B) Abandon — Desert
(C) Elevate — Raise (D) Value — Success
80. (A) Acquit — Convict (B) Expect — Hope
(C) Faithful — Loyal (D) End — Finish

SLRC-2022/P-11I/C

48

Page 48 of 64



Al | JobAssam conr

Q. 81 371 Q. 83 1 : S 1zt / 3 / #=(G el 1t

81. 5:27:9:
&) 83 B) 81
(C) 36 D 18
Q. 81 to Q. 83 WepifEe W / 3 / * = (Kiw @ FAN -
81. 5:27:9:
A) 83 B) 81
(C) 36 D) 18
Q.81 FAwm Q. 83 fam :
AR AN/ R /AeEE! ARR
81. 5:27:9:
(A) 83 (B) 81
(C) 36 (D) 18
9 HEAT 81 W 83 Tk o[ HEAT/3T&I/IT6G HTd ShIfT |
81. 5:27:9:
(A) 83 (B) 81
(C) 36 (D) 18
From Q. 81 to Q. 83 : Find the missing numbers/letters/words.
81. 5:27:9:
A) 83 B) 81
(G 36 D) 18
82. AQRD : BRSE :: LMTJ :
(A) MNRK (B) MNSK
(C) MNUK (D) MMUK
83. Bus : Driver :: Horse :
(A) Saddle (B) Rein
(C) Horseman (D) Stirrup
84. (I 9 fqgea AT Eiq W’W% : % :i I 27 2T 104 .M. | fagsGR
215 3\‘JNSWWW :
(A) 52T B) 48 .M.
(C) 44 M. (D) 40 T.J.
SPACE FOR ROUGH WORK
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84. IH fagres A SIS %:%:i @GR M (perimeter) 104 GIHRGR | fagre™
Aoy 1gH =
(A) 52 CIFEDIE (B) 48 TIORGR
(C) 44 TIHRGR (D) 40 FAFGRGE

84. UMY AWM FATETRHBRI FJATE A= %:%:i I GRS fommn S
104 9.0, | 9 smrefRugmfy memafim smarfr srme
A) 524 (B) 484.f.
(C) 444.f. (D) 404.fa.

84. TS Tt ¥ YSAI3T 1 SFIITT %:%:i 2 3TN 3aept i 104 9.1, 7 | Bys 6 ged st
YN8 -
(A) 52T, (B) 48T,
(C) 44T, (D) 40T .1,

84. The ratio of the sides of a triangle is %%% and its perimeter is 104 cm. The
longest arm of the triangle is :
(A) 52cm (B) 48 cm
(C) 44cm (D) 40 cm

85. femiz que e B0 R wiafwer, A9 @GR 22 G0 e a1 20 e e
& =re e | (GeR I il 45 T e femiE foemsie sl | 2R Srmm
ORI 16 W= e e I e sifee | am 2R geaia B0 ke s,
(O08 THENE I 5o F 1 sl 231 ?
(4) WEFN (B) ==
(6 (eI™ (D) TFERE
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85. feml @G beffbtas (movie) BfFG T (booked) TR IW M ¥e efod
(trailer) Y& *IW ©F BRFG 35 TR 20 e <4 | BeTfootas emffe 1afbq (trailer) 45
U] #R (3T 5eIM6@ (b (movie) (CATRE | 1211 Beboaic (i 16 e OMW%W]% (movie)
e i@ | I @1 qRk@iE B =90 (booked) FCAMRS ©@ AAIRA (@I e
BEIA G CIRTReT ?
(A) HFR (B) ==&
(C) A= (D) FHRIS

85. TSr =1 Hig wrayAfT fefra am S waeH trailer @ faf fefora sremmf @M 20 fama
fegeEEEEE | ool § 9EYTE! trailer GESH™ 9HH 99 45 & 3@ A | 9
el Renf A5 AR 16 @i e AR 1 A e e i A arae
TSN, & YA G F6l AT [CgTTR—HH ?
(A) IR (B) wiHeR
(C) asm (D) =TSR

85. TS U fthew o1 feshe o forar fraent ot feehe 9% ot @ 20 e et SR femarm T o |
SR Tl B o 45 Teq =g 98 fohew gt 2 | Thew 3 67 9 16 e uaet et g3 off
T B 3 fohew <@t oft | Twarg < fop e fbem fefiar 53 off 3R 3o tomm 1 fewne g
SRR
(A) TR (B) wfam
(C) qam (D) TR

85. Priya booked a ticket for a movie whose trailer was released 20 days before
she booked the ticket. She watched the movie 45 days after the trailer was
released. The movie was released 16 day before the day on which Priya
watched the movie. On which day of the week was the movie released if she
booked the ticket on Sunday ?
(A) Friday (B) Saturday
(C) Sunday (D) Tuesday
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86.

86.

86.

86.

T e, AT, @it
92 (HAPTIRT e 95 STl eifsfiiig FR #[1 foaih! bere i -

(A) (B)

©) D)

7% o, QerRl, R — €2 ETGTER TEIF T SeFoei@ afsfiias 1 Bab
e 54

(A) (B)

©) D)

U@l (Classes) B ATEE YR AHIRET S3GSEl ATeE- HRUTIIT TFERE AR |

(A) (B)

©) D)

30 3 1 T ) 23 Tt % e % Geyl o) ge iy ®9 9 ewtar @

(A) (B)

©) D)
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86. Identify the diagram that best represents the relationship among the classes :
New Delhi, Sri Lanka, Asia

(A) (B)

©) D)

Q. 87 3 7_ Q. 89 T : fwferiie BIfG! fper fofoibl « Ko =N AR T & 0!
GIiTS TGS | (15S WG IR KPS el 1 |

87. (A) 2837 (B) 7651
(C) 3925 (D) 9762

Q. 87 - Q. 89 : I IRT® RPER A& Foai AN A1l KR =71 ToR FACE | @0 GT2
T T@ofS 73 ?

87. (A) 2837 (B) 7651
(C) 3925 (D) 9762

Q.87 wm Q. 89 fam :

MRS /™ HHs TRTH (options) WW@WW?@W@ (Pattern) ST T& ®RATN
3TN SERAT HE Sl M SR | & SrelstTd MR Tgrat AR |

87. (A) 2837 (B) 7651
(C) 3925 (D) 9762

e : Iy T 87 W 89 : FAfiRgd =w foeredi # & <fiF U fomiv e § TuH € 3R safew
IIE A1 & | 9 ¥ ST foehed i ¢e |

87. (A) 2837 (B) 7651
(C) 3925 (D) 9762

From Q. 87 — Q. 89 : Three out of the following four options are alike in a

particular pattern and hence form a group. Find the one which does NOT
belong to the group.

87. (A) 2837 (B) 7651
(C) 3925 (D) 9762
SPACE FOR ROUGH WORK
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225 100
88. () 3375 ® 1331
169 289
© 2744 D 5832
89. (A) o« (Emission) (B) &7 (Pollution)
(C) 7 (Contamination) (D) ToEerae (Adulteration)
89. (A) fsfee (B) &84
(C) 74 (D) TSI
89. (A) IGRGW (B) T
(C) T WA (D) IS T AT
89. (A) I (B) Sy
(C) T (D) firetmere
89. (A) Emission (B) Pollution
(C) Contamination (D) Adulteration
90. &ws o fqge™ Yo 7Yyl e 41 :
A 12 (B) 18
(C) 22 (D) 26
90. It> sl o (It fqgre 74T (4ITe (& Il -
A) 12 (B) 18
(€ 22 D) 26
SPACE FOR ROUGH WORK
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90. o HEMISTE HHeH STETIAH € ?

A 12 (B) 18
(C) 22 (D) 26

90. & g 3mepla § Hrsi o T ra i -

A 12 (B) 18
(C) 22 D) 26

90. Find the number of triangles in the given figure :

(A) 12 B) 18
) 22 (D) 26
SPACE FOR ROUGH WORK
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91. 9T NG (ST (T 3 =T TeT IF (T6F RPT (T @9 I bifee | AW 3
2T RS (96T 7[@F TP 15 T=9 R, (90T (SS9 G197 TSI 7 (7R —
(A) 60 3I=J (B) 513=3
(C) 483=7 (D) 453=3

91. GFEH FIFT O FF (A o I IT IR O (RCH R BIF 89 T | AW 3 99977
R S (=R T 15 I R, OF O B TOT 7 TS ?
(A) 60 3ICF (B) 513ICF
(C) 483 (D) 453ICT

91. wE AHreEn fofy fofafgs IEr 3 e o et feasary g3 4 @ Q3 | 9
TraTseTi SE3T FER Ui e 15 TER ST, § gE ot s snirarese
o9 ?
(A) 60 FER (B) 51€HER
(C) 48 ¥ER (D) 45 €ER

91. U ATCH! 101 Ieil & 3 TTet 92T 8 37 3104 9 § IR A 51 ® | Afg 7 3 o =71 15 o
1 EI AT 8, A1 I5h! Tt hl IdH Y 2 -
(A) 6099 (B) 5199
(C) 4899 (D) 4599

91. A man is 3 years older than his wife and four times as old as his son. If the
son becomes 15 years old after 3 years, the present age of his wife is :
(A) 60 years (B) 51 years
(C) 48 years (D) 45 years

92. IfSo[T “F® el Q¥Te ATl WF ARl TR FEIE $vaee =ifE =ifewt | AR
e @ RS 2ITh! ST SRS “IRTz | AeiE @i 79 F< wifee ?
(A) Wl B) =
(C) T3 (D) =%

92. RSl ¥R ARTS! AR AN GFS S GFGCF M A PR | AT 9e @
SROR TR ROR AT SR | AT FEMCE I I AR ?
(A) Tl B) &
(C) Tex (D) =%
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92.

Tftar 3t aferarn g foar sritema m gueme Sem | afvdarn gt areEt
GiETH SAFTTar Jo | |fearn s« fefe Jiem =1 gae 2
(A) @rer (B) &S
(C) = (D) @

92. T TR @la gore i<l & Th gAY o UTH 31 T8 & | W@ 3 @ o |t o 918 AR @i
1 B oft | wferar fope feum <t 3R 3= oft ¢
(A) g B w
(C) 3I™® (D) ufyam
92. Sarita and Savita were coming to each other in the garden in the morning.
Savita saw that Sarita’s shadow was at Sarita’s left side. Which direction
was Savita facing to ?
(A) South (B) East
(C) North (D) West
93. IMaF20% I b =, T8 20 I b% I I AN 2 :
(A ad4% (B) ad6%
C) ad8% (D) ag910%
93. M a G 20% b TSI 20 9T b% I 2(F
(A) a994% (B) a4996%
(C) a«9d8% (D) a49¥910%
93. Jf¢ a [ 20% 31 b SR 31eeT 20 T4 b% 31 S ST |
A af4% B) afi6%
(C) a™8% D) a™10%
93. G a1 20% b &, A 20 FHI b% TAF © :
(A) a=h14% (B) a=16%
(C) a=i 8% (D) a1 10%
93. If 20% of a is b, then b% of 20 is the same as :
(A) 4% ofa (B) 6% of a
(C) 8%ofa (D) 10% of a
94. BIE IR PRCH! 7 T NS “=1 Q@Iex! 39 AT T veiteT AT g iR ?
(A) D B W
©) R D) E
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94. M @G 3 AN W (AF AL (7th) FE GR TH WF (AF QT (16th) Z
R ?
(A) D B) W
C) R D) E
94, IS STEMETATH e FRAIST A% fore fauf smfafem ferfusma € 2
@A D B) W
©) R D) E
94, ITUSH TUHTAT T i< TT 378 TR T HleTgd IR o o4 F Hrdd I W[ & 7
(A) D B) W
©) R D) E
94. Which letter of the English Alphabet is the seventh from left of sixteenth
from right ?
(A) D B) W
©) R D) E
95. “iibee &1'ql @bl JE© TSI (2 AL TR | IS, @IZS AT 7 #A6req qers SR | 7
[T ANSFICE SR | (@IES o ST TR | ST 03 PRI i 202 ?
A) T (B) e
(C) wifzs (D) wHfere
95. “ibeH (= JEFIE IVAZ TR ICT T2 | e @IfTS G2 FlSied W& ICR | 3[4
IR AN, @IES R IS | (F TSR 09 T I0T0R ?
A) T (B) *UeT
(C) e (D) weIere
95. TET BT AFE sEHE SREAT eaF | Ufgd A0 gafsai Toie Stegat S |
HAS A ST 3 Ufgasn gaafy smfafy e | smf smrerfoemme |k
et 2
A) gadt (B) wHA
(C) Tfega (D) <aAfa
95. Ui TTgeh Teh B U HL h1 TIHHT i 5T NS § | 3o, Uferd 3t Srerofia <= 8 1 g,
TS % T8 3R ], Ufed, G o o1E AR R | 31979 & 31 g hIM 93T 8 7
A) gad (B) wHA
(C) Tfega (D) <t
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95. Five boys are sitting in a circle facing inward. Ajay is between Rohit and
Doljit. Suman is at the left of Shyamal, Rohit is at the left of Suman. Who is
sitting at the immediate right of Ajay ?

(A) Suman (B) Shyamal
(C) Rohit (D) Doljit
96. fTferire =waIq Fewicerl ol wgfe)f w3 el -
(1) T©RI (2) Y (3) R
(4 I (5) feramtst (6) T
(A 1,5,4,2,6,3 B) 5,1,4,2,6,3
) 5,4,1,2,3,6 D) 1,5,2,4,6,3
96. 0y TCal¥® MBS Jhewd g3z wsjefeld sAes :
(1) T (2) S (3) &=
4 3 (5) fermie (6) 0!
(A 1,5,4,2,6,3 B) 5,1,4,2,6,3
C) 5,4,1,2,3,6 D) 1,5,2,4,6,3

96. TERITE BHTT AIGEHRE! AR TR ST SIS A |
(1) M@ (2) e
(8) WNEEH™ (4) /@

(5) TE™ AU (Low Pressure) (6) edMI

(A 1,5,4,2,6,3 B) 5,1,4,2,6,3

) 5,4,1,2,3,6 D) 1,5,2,4,6,3
96. frferfiaa sregi i arfehen 3T 31eiyul shm | srafeer <hifsre -

(1) wred (2) E3uy (3) el

(4) e (5) HH TS (6) e

(A 1,5,4,2,6,3 B) 5,1,4,2,6,3

) 5,4,1,2,3,6 D) 1,5,2,4,6,3

96. Arrange the following words in a logical and meaningful order :
(1) Cloud (2) Rainbow (3) Devastation
(4) Rain (5) Low Pressure (6) Flood
(A 1,5,4,2,6,3 B) 5,1,4,2,6,3
) 5,4,1,2,3,6 D) 1,5,2,4,6,3
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97.

97.

97.

97.

97.

It ‘HONESTY’ & 5132468 Z5I@ &€ ‘POVERTY’ F 7192068 Boita ferdl =3,
(S0 G0 (FI0UE@ ‘HORSE’ 7 o112 =7ifara ?

(A) 50124 (B) 51042

(C) 51024 (D) 52014

I ‘HONESTY’ 5132468 201 @14l 27 €3k ‘POVERTY’ 7192068 ROTR @141 =7,
S GF2aPY S ‘HORSE’ I ©Id @14 1% 2

(A) 50124 (B) 51042

(C) 51024 (D) 52014

SJfe HONESTY @t 5132468 S feren st POVERTY @& 7192068 i
TSI s W@ 3HRT EE! (code) ST HORSE @t Arai foremn 2

(A) 50124 (B) 51042

(C) 51024 (D) 52014

Ife HONESTY ! 5132468 3 POVERTY i 7192068 fot@n Sirar 8, o 3Ht &ig °
HORSE = fer@r s @ -

(A) 50124 (B) 51042

(C) 51024 (D) 52014

If HONESTY is written as 5132468 and POVERTY 1s as 7192068, then in the
same code, HORSE is written as :

(A) 50124 (B) 51042
(C) 51024 (D) 52014

98.

98.

200 fiI. =% 100 f. M1 74+ @198 @ 20 3. / Ge =i 22 ./ Gres @ore
TG ST 9Ife TR R | AW @9MNEN 73+ GG6! Vs 9 I, (ST8 9T HLTe
o e I AN &S 2] ?

A) 212 TS (B) 135 Y

(C) 150 TBFY (D) 120 TS

200 X5 =71 @32 100 B o 726 @@siif ANeaeTeid F eifs eepee 20 fHiE
R &fs ety 22 bR oifers vertz | af (G 936 IaRT @2 iftd B @ Gt
R SNOFH FACS S T FM(F ?

(A) 212 PIFY (B) 135 TIFS
(C) 150 TIY (D) 120 TFS
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98. form S W™ W@ 200 . 3 100 fir. Mo emfe wafy Mafysn smam 20 /4.
I 22 T A, | Jfe W@t e e fome @rise, s meat 3 |l sRE @R 2
(A) 2129, (B) 1359.
(C) 1504. (D) 12073.

98. 200 HeX 3T 100 HieT Tt & 3 HAM: 20 HeY/Tehs 3 22 Hiel/The Fi & T MM
T 2 | A I wh A fown =@ W E; @ 3% U g 1 IR H fopaet e @ 7
(A) 212 THs (B) 135 Twhs
(C) 150 Ths D) 120 AHs

98. Two trains of 200 m and 100 m long are running parallel at the rate of
20 m/sec. and 22 m/sec. respectively. How much time will they take to cross
each other, if the trains are running along the same direction ?
(A) 212 sec. (B) 135 sec.
(C) 150 sec. (D) 120 sec.

99. I O FRIERT =/ 2 5.5, 77 i T =T ©F fPree Gl 9k 8 .54, 3/ |
o free w1 =R 2 &6 e afwefed 4 .50 a7 | sReEs ©iE e IR
1 6.1, Sfow 1 o foeq @bt THEs 27 | SoR SRR S QobEBT Ie
TN P 7 02 :
A) 25 =M (B) 13 .M.
C) 12 %M. (D) 17 <M.

99. Jol SR P AT @G 2 e [ s, 8 e o THins, oRem 2 e
o1 ffeite @<k SRR 4 fRsfire whwa e T | SR oF AW s (e for 1 feefis 2%
O BRI MR | SRS S[PT G2 O SRFER [y FREFISN AR 799 (aerial
distance) 24 :
A) 25 fFefis (B) 13 fesfis
(C) 12 fFefus (D) 17 feefis

99. HieART A AEGAHHE Ay 2 .M. ueEl | SfwE e et 8 km
(fr.fi1.) eremmm gy 2 for.fiy. eemareme 31 o5 @ienf 4 for. i, e | e
forn sty fifgm 1 fo6.f. ememaama mafa sme @t | wfaarty aregfa smy fafa a'f
TS TR SRR (Aerial) STHTSAT SITE
(A) 25 f.fu. (B) 13 f.fa.
(C) 12 f.fu. D) 17 f».fa.
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99. Hfaar 314wt ¥ 2 fob. . qd hit 3R T 7, e 8 for.ft. o air 3 fiwe 2 fo.ofh.
7o <l 3R 3R e 4 T oft. eferor Y 3T =TTt ® | 37 g 1d gedi B 3N 310 ST
T T < foTq 1 T 1. =eret 2 | Shfaar o SwREfe™ 3R 38eh AEHS & e <[Aaw &a1%

R
(A) 25 5.t (B) 13 .1t
(C) 12 5.t D) 17 f.t.

99. Kabita walks from her office 2 km to the east, then 8 km towards her right,
then 2 km towards the east and then 4 km towards the south. Finally she
turns left and walks 1 km to reach her apartment. The shortest aerial
distance between Kabita’s office and her apartment is :

(A) 25km (B) 13 km
(C) 12km (D) 17 km

100. 35 : 6 F 3] F=9RFCI IReTIS AT o T 53 <541l |

(A) 85:9 (B) 64:8
C) 26:5 (D) 120:11
100. B 3271 TAITIG 35 : 6 G T© G S FES ©f foifive] 74 |
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11
100. TEREFHR SHNH @ R, ST SFH A48T 35 ¢ 6 Srfed S |
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11
100. 39 TEIT I 1 =3 hL [SFH g1 FEATT IH TR HEd 8 9 35: 6 2 |
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11
100. Select the number pair in which the two numbers are related in the same
way as 35 : 6.
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11
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